Problem Set 3
Elasticity Assignment 
QX =-5.4-24PX  + 9Py  +5.5A+0.67 I

Qx – plasma tvs 

Px – price of Samsung LED Curved tv price in thousands --- $3500 

Py – price of LG OLED Curved tvs price in thousands --- $2500

A – advertising in thousand  --- $20,000 

I –take home income per week in dollars - $360

1. Determine the demand equation. To do this plug in all of the values with the exception of Px. 

2. Find the quantity demanded at the price above.
3. Solve for the point price elasticity of demand – interpret the results.
4. Solve for the income elasticity of demand – interpret the results.
5. Solve for the cross price elasticity – interpret the results
6. How would the demand curve shift if advertising increased to $30,000? Explain numerically and show graphically. 
